
 GT-0071-a-22-2-o 5 / 9 lees verder ►►►

1p 16 ‘“Putting kids in jail, though sometimes necessary, is not an effective 
response to youth crime”’ (alinea 2) 
In welke alinea wordt aangegeven op welke manier Anne McLellan 
jeugdcriminaliteit wil aanpakken? 
A alinea 3 
B alinea 4 
C alinea 5 
D alinea 6 
 

1p 17 ‘youth get caught in a cycle of crime because they know there are no 
serious repercussions’ (paragraph 2) 
How does paragraph 3 relate to this statement? 
A It adds new information to it. 
B It completely disproves it. 
C It partly supports it. 
 

1p 18 Which of the following quotes is in line with the statement of the Canadian 
Criminal Justice Association (paragraph 4)? 
A ‘when serious things happen, there need to be meaningful 

consequences’ (paragraph 2) 
B ‘I probably still would have done it since I wasn’t thinking about the 

punishment anyway.’ (paragraph 5) 
C ‘Needless to say, this new legislation will not please everyone.’ 

(paragraph 6) 
 

1p 19 Kies bij    19    in alinea 6 het juiste antwoord uit de gegeven 
mogelijkheden. 
A a logical response to an unexpected situation 
B a modern approach to an ancient dilemma 
C an appropriate solution for minor issues 
D a simplistic answer to a complex problem 
 
 

Tekst 7 
 

1p 20 Kies bij    20    in alinea 1 het juiste antwoord uit de gegeven 
mogelijkheden. 
A interesting 
B local 
C medical 
D wealthy 
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1p 21 What becomes clear from paragraph 2? 
A The show of the twins became popular enough to fill big venues. 
B The show of the twins sometimes ended in public fights and chaos. 
C The twins reacted in an identical way to being publicly exhibited. 
D The twins were interesting to various people for various reasons.  
 

1p 22 Kies bij    22    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A angry and spiteful 
B intelligent and determined 
C modest and shy 
D political and influential 
 

1p 23 What is the point made about the twins in paragraph 4? 
A Because they were wealthy they constantly had to fight off people who 

wanted to rob them.  
B Once they were in charge of their own lives they succeeded in making 

that a financial success. 
C They became rich after taking their former owners to court for having 

enslaved and mistreated them. 
D They lost their hard-earned fortune almost immediately after they had 

become independent. 
 

1p 24 ‘But Chang and Eng yearned for domesticity and marriage.’ (alinea 5) 
 In welk opzicht lijken de vrouwen waar ze mee gaan trouwen op Chang 

en Eng? 
Geef antwoord in het Nederlands. 
 

1p 25 Kies bij    25    in alinea 6 de juiste zin uit de gegeven mogelijkheden. 
A Their story does not end happily ever after. 
B There were more exciting adventures for them in store. 
C These children ultimately caused their downfall. 
D They never stopped dreaming of more fame and fortune. 
 

1p 26 Kies bij    26    in alinea 7 het juiste antwoord uit de gegeven 
mogelijkheden. 
A however 
B likewise 
C moreover 
D therefore 
 


